
2 libxz - v"awg2011 xanaepa 10 :qxewd xz`
www.cs.biu.ac.il/˜mordan libxz:itxb ote`a xezte miveli`d i"r rawpd megzd z` xiiv

max z = 4x1 + 3x2

s.t: (1) 2x1 + 3x2 ≤ 6

(2) −3x1 + 2x2 ≤ 3

(3) 2x2 ≤ 5

(4) 2x1 + x2 ≤ 4

(5) x1, x2 ≥ 0 :hytp
(1) : x1 = 3− 1.5x2

(2) : x1 =
2

3
x2 − 1

(3) : x2 = 2.5

(4) : x1 = 2−
1

2
x2

(5) : x1, x2 = 0

1



:sxbd

:yweand megzd z` mingezd mieewd ly jezigd 'wp z` `vnp
1 = 2 : 3− 1.5x2 =

2

3
x2 − 1

x2 = 1
11

13
= 1.846

x1 = 0.23

z (0.23, 1.846) = 6.458

2 = {x1 = 0} : x1 = 0

x2 = 1.5

z (0, 1.5) = 4.5

1 = {x1 = 0} : x1 = 0

x2 = 2

z (0, 2) = 6 :`ed eply meniqwnd okl
x1 = 0.23

x2 = 1.846

z = 6.458
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